= o
A & 0l & AF 2 E A A
FAM IS
HE: 0ol MUHE N (SHHSLL/HSHL - OfE)
Sol YMMBS XD EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Hgasn 9,915,742 11,209,864 A1,294,122
2 987,012
s 74,000
< 8,854,730
Hgol Mauss X (sEalLa/aigsd - HE) 9,845,214 11,136,326 A1,291,112
= 987,012
s 74,000
< 8,784,202
Hgasras X 4,066,900 4,845,000 AT78,100
= 383,000
< 3,683,900
et UX 22EH BESAME(=FI2S)(22) 459,600 745,757 A 286,157
= 383,000
< 76,600
403 XIS E X201 & 459,600 745,757 A 286,157
= 383,000
< 76,600
01 X SHHX2E= 459,600 745,757 A 286,157
Olsgs 7|2 - ¥Hl - SHI4EX wid XA 459,600
2 383,000
= 76,600
010l QlaotAE AR X & 2,245,000 2,498,500 A 253,500
202 O4dl 5,000 5,500 A 500
01 = LH 4 Hi 5,000 5,500 A 500
ONFQl CIUOtEALY =& 5,000
308 XXM SO A 2,240,000 2,493,000 A 253,000
01 IXNHHMBNEES 2,240,000 2,493,000 A 253,000
ONgE YAM= 22X & 2,100,000
OZWA= OIXHEA 105,000
Ooflg4t 82X & HEX E= N 35,000
H&EEH 03 ¥ SAHY 243 X 1,362,300 1,585,300 A 223,000
202 044l 2,500 5,500 A 3,000
01 SLHOYI 2,500 5,500 A 3,000
O ZHl s & HAIHY 2dst =8 2,500
403 MHXSHHSA=0l& 1,359,800 1,579,800 A220,000
01 X EHHMA=2E X 1,359,800 1,579,800 220,000
OH&dIZ2 & H=etM ol &dl X& 374,000
O20gsE S=A& 144,000
OH2oH MHAIIAHL ZHHl X2 72,000
O20 H&s0id HFD(H2D]) XA 33,600
OA2al MHEI e ™ EHI(oIH) XA 80,000
odetHd =5 MI|ILH =2l X 81,600




FAM IS
HE: 0ol MUHE N (SHHSLL/HSHL - OfE)
ool OlYMAES K CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O+ 2 B2F A4 285,000
OgetEeue 0INl X2 69,600
ONHeHEE Y AHaed) 20 =2
2O 2HA K& 220,000
HANWE A & HAunreEd 130,000 137,800 A7,800
el H&EINE XA 90,000 94,800 A 4,800
308 XtXIEHH SOl A 90,000 90,000 0
01 HXNHHNBHELS 90,000 90,000 0
OMSI HAAOIHE &AHBH XA 90,000
st == 4&bAIOILE 33,000 33,000 0
201 £B-2%H| 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
OHM20&! Bt =&HAIDILE OH & 20,000
202 od4dl 1,500 1,500 0
01 = LH o4 4l 1,500 1,500 0
OXM202 ed==4stAHOILE =8 1,500
301 LEAF 11,500 11,500 0
07 2BI=& 0 bl 10,000 10,000 0
OxEcls id=4tZ0F A=A I 10,000
09 HALAHIX RS 1,500 1,500 0
OHM208| Bt =4HAIOILE AL HIX& 1,500
Helnssd 7,000 10,000 A 3,000
201 et 7,000 10,000 A 3,000
01 At 22l 7,000 10,000 A 3,000
OE= et uIEAZ 23 7,000
THohol & & HHEEAN 3,318,100 3,568,046 A 249,946
= 88,000
< 3,230,100
FHXEN, AHSA2sAHl, VHF-DSCE A BHIES (2 114,400 134,160 A 19,760
2)
= 88,000
= 26,400
403 MtXISHHE =0l & 114,400 134,160 A 19,760
= 88,000
= 26,400
01 AXSHMA=2EE 114,400 134,160 A 19,760
ONHEALD UIYAIAE 2= 114,400
= 88,000
< 26,400
HEXNEH 222l 517,240 495,000 22,240
201 Let24d] 210,000 210,000 0




2A: fYTED
Mo A0 MASE K (SHLSM/HLS - 0=
SOl THOHOIE L O{RATA HE (el e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
01 AL 22l 10,000 10,000 0
ONFE &s2A=As AXR S 10,000
02 2z 2| 200,000 200,000 0
ONYXETH REH L H4E 200,000
202 OF Hl 70,000 80,000 ~10,000
01 ZLHOi bl 70,000 80,000 £10,000
ONHYXETH =S50t 70,000
401 AlEHI2 2 TH Y| 234,740 200,000 34,740
01 Al& ] 230,000 200,000 30,000
ONYXTH 2= MF -2 HI|%2 230,000
02 22l 4,740 0 4,740
ONYXTH 28 HI|22| 22 Y| 4,740
405 XHAHE S b 2,500 5,000 A2,500
01 HALSESF SH| 2,500 5,000 A~2,500
ONHYXNETH 2SI2E 2 2,500
Ol & AFD zerodl oF®EH X 74,960 119,486 44,526
403 XHXISHAIS X2 0| & 74,960 119,486 44,526
01 ISR X 74,960 119,486 44,526
OO &AD zerodt OHE&H X 74,960
S ololoje XUREH X 20,000 24,400 A4,400
403 XHXISHAI S X2 0| & 20,000 24,400 A4,400
01 IXSH =X 20,000 24,400 A 4,400
OXLO& OleREH X 20,000
AL HFHBAL(HAXNEH) HAAE 2,339,000 2,300,000 39,000
401 AlEHI 2 2 1Y 2,339,000 2,300,000 39,000
01 Al&H] 2,300,000 2,300,000 0
OFALY FB L (HLXNEM) HHMAZX 2,300,000
03 Al& = THHl 39,000 0 39,000
OFA+A HHB L (OAXNCH) HHAE 39,000
SYOY Ox8 CEXY 28 14,000 0 14,000
201 L2 b 14,000 0 14,000
01 AL 22l 14,000 0 14,000
OSE2XZE 2| A= 1| 14,000
ABOIMQOIQAD| A X (B 238,500 0 238,500
403 XHXISHAI S K20l & 238,500 0 238,500
01 IS =2E = 238,500 0 238,500
OAS QLI MR (&) 238,500
Helel =X X 1,000,170 1,199,300 199,130




FAM IS
HE: 0ol MUHE N (SHHSLL/HSHL - OfE)
S oge SXXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 31,500
< 968,670
oHHOoigel =2A 2 ]IS N2 136,000 101,000 35,000
202 O4dl 1,000 1,000 0
01 = LH 4 Hi 1,000 1,000 0
Oofitoidel AZH ¥ |RIF N =& 1,000
308 XXM SOIA 135,000 100,000 35,000
01 AXHHBILEES 135,000 100,000 35,000
Ooit e ALGH Mz € /AEE 2el 85,000
oofitoigel RItE X 50,000
Hdoge =XXd 2 Hilsd N& 81,000 45,800 35,200
307 glz2tol & 5,000 5,000 0
02 It MAMHEE 5,000 5,000 0
OW&de HEXS E 2E3 5,000
308 XXIEHHSOIA 76,000 40,800 35,200
01 AXHHILEES 76,000 40,800 35,200
ondoige XA=SF K& 12,000
oddguge EX*Y K& 64,000
Fx=0ige =2X X 101,400 69,800 31,600
307 glz2+ol & 60,000 60,000 0
01 222724l 40,000 40,000 0
O&=ge d=H X 40,000
02 It S AIHE L 20,000 20,000 0
ouzd oHgel N2y X 20,000
308 XX EHSOIA 41,400 9,800 31,600
01 IXNHHBNEES 41,400 9,800 31,600
ous Hgel === XA 26,400
oud oHgel ==z XA 15,000
Mol2a 282 XA 501,000 465,000 36,000
308 A EHHSOIA 501,000 465,000 36,000
01 HXNHHBHELS 501,000 465,000 36,000
O Motl24 2= XA 171,000
ONEA Mol2a 2z K& 330,000
gEsd SN N 23 133,600 164,600 A 31,000
202 4l 5,600 5,600 0
01 SLHOYI 5,600 5,600 0
O%EE =X XNF = 5,600
308 A EHHSOIA 124,000 75,000 49,000




FAM IS
M 0l MABE K (SHLEL/HLS
Sl ojgiel =X (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HIXNHHNBHNEES 124,000 75,000 49,000
soFFH AgE X 24,000
Og=edd nEHE XA 100,000
403 UHXSHHSA=0l& 4,000 60,000 256,000
01 XXM A=2E = 4,000 60,000 A56,000
aprAAOl OIEE AR A BAIM 4,000
Hgel XX = 10,000 100,000 A 90,000
403 XSS A0l & 10,000 100,000 A 90,000
01 *XSHMA2EE 10,000 100,000 A 90,000
oggoge il A 10,000
HEER0 XNA(=1) 37,170 53,100 A 15,930
= 31,500
< 5,670
308 XtXIEHH SOl A 37,170 53,100 A 15,930
= 31,500
< 5,670
01 AXHHILEES 37,170 53,100 A 15,930
ogE<0 XA 37,170
= 31,500
< 5,670
llsEs & IR 2e 1,330,044 1,386,180 A 56,136
= 484,512
s 74,000
< 771,532
S EH 22(202) 92,000 92,000 0
= 46,000
< 46,000
307 21201 A 92,000 92,000 0
= 46,000
< 46,000
02 It M AHE L 92,000 92,000 0
OHIEEJXNM Ols=2la 299 92,000
= 46,000
< 46,000
FAHGAFRE J23H(212) 74,000 74,000 0
s 74,000
201 L2l 37,000 37,000 0
s 37,000
01 At 22l 28,000 28,000 0
SO HEEX A 28,000
s 28,000
02 =24l 9,000 9,000 0
oOxgd B32SHA & 24l 9,000
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FAM IS
A 0ol MUBE N (SHHSLL/HSLL - OE
el =D IsEs & R 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| = 3,600
Al sHAgH N (22)(EX) 58,000 406,000 A 348,000
= 50,000
< 8,000
308 AHXIEHHSOIA 58,000 406,000 A 348,000
= 50,000
< 8,000
01 AXSGHBLEES 58,000 406,000 A 348,000
oxszeldy SELAY 58,000
= 50,000
< 8,000
=T 3= 119,100 106,000 13,100
308 XXM SO0 A 119,100 106,000 13,100
01 IXNHHBNEES 119,100 106,000 13,100
O¢Zol HESE 0+ =HHl X2 44,100
OUEo Y &x8 75,000
SMEESEYE 2 (21) 40,000 40,000 0
= 20,000
< 20,000
201 L2l 1,000 1,000 0
= 500
< 500
01 At 22l 1,000 1,000 0
O=dtsESEHE 2t 1,000
= 500
< 500
307 212+0| & 39,000 39,000 0
= 19,500
< 19,500
05 RIZt2IEt = 39,000 39,000 0
Ox=tts=2g e 2 39,000
= 19,500
S 19,500
JIMBRRA (2D) 20,000 20,000 0
= 20,000
307 gl2tol & 20,000 20,000 0
= 20,000
05 BIZHRIE 3 20,000 20,000 0
OJI M= H ALY 20,000
= 20,000
HSeloy Hansd (20)(HE) 6,000 12,000 A 6,000
= 6,000
201 YEr2 | 2,000 6,000 A4,000
= 2,000




M LN ED
B 00l MUBS KA(SHHSLL/HS M- &
el =dls2s  AHE2e (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
01 At 22l bl 2,000 6,000 4,000
ozl s & 88 2258 7Y 2,000
= 2,000
301 LetEA= 4,000 6,000 A 2,000
= 4,000
09 AMAHIXKES 4,000 6,000 A2,000
OXE2cog &ah Wx 4,000
= 4,000
HE g FHEENS NE(=212) 64,875 83,553 18,678
= 57,480
< 7,395
403 TR SHHSA=01H 64,875 83,553 18,678
= 57,480
S 7,395
01 HASHH =R xE 64,875 83,553 18,678
oG ool FEX W 64,875
= 57,480
= 7,395
HA olge JOFEENS XN (HFHH)(22) 2,632 0 2,632
= 2,632
403 HXISHH S Xt =201 ™ 2,632 0 2,632
- 2,632
01 HXISHR =L 2,632 0 2,632
O34 ofgdel FAXA(EEH) 2,632
= 2,632
HOH EAHO X (=1) 5,900 14,750 8,850
= 5,000
£ 900
308 XXM SO0l ™ 5,900 14,750 8,850
= 5,000
= 900
01 UAXESHHBLEES 5,900 14,750 /8,850
O EAHO 2EXA 5,900
= 5,000
= 900
SAR HERI XNE(21) 400,000 400,000 0
= 200,000
& 200,000
308 XXM SO0IH 400,000 0 400,000
= 200,000
< 200,000
10 I 2S0tHetE & S 2 & A I 400,000 0 400,000
OZAE HERIXZ A 400,000
= 200,000
= 200,000




- _ _ RE]
S C(BH) - HEAY - BAS %Eﬁ HR=2
HO & 43 XS 300,000 0 300,000
308 XAHXIEHSOIA 300,000 0 300,000
10 B 2SUHUSHEAEAE AT Y| 300,000 0 300,000
OAHNHES D 43 X 300,000
NEeE2As &Y R (=21) 16,000 0 16,000
= 16,000
405 XHoHE S 16,000 0 16,000
= 16,000
01 XAt 2 EF S| 16,000 0 16,000
OXNEZEA HH 7 16,000
= 16,000
HESAAH(HLSXEW)(IIEH/DIE 70,528 73,538 A 3,010
=244l 70,528 73,538 A 3,010
EA2Y J2234l| 70,528 73,538 A 3,010
201 LBt | 38,162 38, 162 0
01 AP 22| d| 37,662 31,162 6,500
OEMS&Y AtR2t2ldl| 37,662
02 E22%H| 500 7,000 A 6,500
ORNSY 22=29H| 500
202 04| 27,086 ,096 A 3,010
01 2L HI 27,086 ,096 A 3,010
oOBAd2d 2ol 27,086
203 €2 F=&d| 5,280 ,280 0
04 EANSIE LR F=XH| 5,280 ,280 0
©31¢2! 0] &t 440,000 12 5,280




